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QUESTION 1

Which two options are primary functions of Cisco ISE? (Choose two.)

A. providing VPN access for any type of device

B. providing information about every device that touches the network

C. enabling WAN deployment over any type of connection

D. automatically enabling, disabling, or reducing allocated power to certain devices
E. enforcing endpoint compliance with network security policies

F. allocating resources

Correct Answer: BE

QUESTION 2

Which three key differentiators that DNA Assurance provides that our competitors are unable match? (Choose three.)
A. Support for Overlay Virtual Transport

B. On-premise and cloud-base analytics

C. Apple Insights

D. VXLAN support

E. Proactive approach to guided remediation

F. Network time travel

Correct Answer: BEF

QUESTION 3

Which two statements are true regarding Cisco ISE? (Choose two.)

A. The major business outcomes of ISE are enhanced user experience and secure VLAN segmentation.
B. ISE plays a critical role in SD-Access.

C. Without integration with any other product, ISE can track the actual physical location of a wireless endpoint as it
moves.

D. ISE can provide data about when a specific device connected to the network.

E. An ISE deployment requires only a Cisco ISE network access control appliance.
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Correct Answer: BD

QUESTION 4

Which node enables Cisco ISE to share contextual information on a device with Cisco Stealthwatch?
A. Monitoring and Troubleshooting Node

B. pXGrid Controller

C. Policy Administration Node

D. Inline Posture Node

Correct Answer: B

QUESTION 5

Which Cisco vEdge router offers 20 Gb of encrypted throughput?
A. Cisco vEdge 5000

B. Cisco vEdge 1000

C. Cisco vEdge 2000

D. Cisco vEdge 100

Correct Answer: A
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